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[ 7F8Z5trEA A ]

2:(600) A S(610) BY+A  MEH(611) AHBES  =:(01) 71EE (T : 29)
1 = 2 L
i_ g AE = Ave | Gha| B9
21 A 42,624,818 25,286,194 17,338,624
600 At | 14,460,289 | 14,558,679 A98,390
610 FY+A 5,710,900 | 5,659,300 51,600
611 AB24Y 5,548,900 | 5,548,900 0
01 IH¥E 1,608,018| 1,608,018 0
o StrEAEZSY 10,8609 x 12,3397 x 1271 = 1,608,018
03 EtE 3,630,954 | 3,630,954 0
0 StrEEAREESY 106,7309 x 2,835 x 127§ = 3,630,954
04 USYE 140,203 140,203 0
o St-EAERTY 1,298,180 x 9% x 1271€ = 140,203
05 (Y3 YE 56,316 56,316 0
0 StrEAZZSY 234,6509 x 204 x 12708 = 56,316
09 7Bt ¥t AHER 113,409 113,409 0
0 StrEEAREESY 350,030 x 277 x 1274 = 113,409
661 7[EIEY+ 162,000 110,400 51,600
03 7letrrEeY 162,000 110,400 51,600
0 B2 AlA He|eaR 13,500,000 x 128 = 162,000
670 Goig|aol 8,749,389 | 8,899,379| A149,990
671 O|Zf£Y 50,000 50,000 0
01 OZ0|At+ 50,000 50,000 0
o o=z0J2t & +=¢ 50,000,000 = 50,000
672 Efz|AdUasA 8,691,981 | 8,832,579| ~140,598
02 EISZEAMYZ 5,901,459 5,186,726 714,733
O +ZNMEEA dYU3 5,901,459
o &A7|ZAlE 23| 5,485,818,000 = 5,485,818
0 3&StEAEAY 7|&2T 141,959,000 = 141,959
0 St UA|AH 2HH 257,539,000= 257,539
0 StrHRZEE(SAEEAG) 16,143,000 = 16,143
03 Lete[AxEF 2,790,522 | 3,645,853 ~A855,331
O Lite|A del= 2,790,522
o BE7|ZAIE 2 He| ULES 2,598,974,000 = 2,598,974
o AL St Y A SA A HIBREF 71,548,000 = 71,548
o MBI otr S ZH|7 | 2AE HEsY 89 22 120,000,000= 120,000
679 7|EtA Y|4 7,408 16,800 A9,392
01 7|Etchs2 1,800 1,800 0
0 SR ALEZ 1,800,000 = 1,800
03 =0z 0 10,000 A10,000
04 HyzUAFF 608 0 608
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[ 7F8Z5trEA A ]

24(100) AH2HAQ 8(170) AHEUOBAY  MEH(171) AMEGEAY 2:(01) ALEEDA (el - 24
Ini 2
= I~ o sy | BE= ) =5
-8 -MY-2 off &k o4

28,164,529 10,727,515 17,437,014

28,163,529 10,527,515 17,636,014

171 ANEE2EZ+Y 630,000| 1,000,000 ~A370,000
01 AEEEHZ+Y 630,000| 1,000,000 ~A370,000

630,000,000 = 630,000

27,533,529 9,527,515] 18,006,014

15,729,000 2,215,002 13,513,998

O ZNERF4LL 15,729,000
o (BUZ DtSdtr YH)EEY &t 25tr2Ald 22[AY
34,000,000 = 34,000

3,362,000,000 = 3,362,000

o (Bte2ly 3R 2E2SSTIeA2|AE SEAFE(1R)

455,000,000 = 455,000
0 (BUE OtSdtr YH) S+ Aot e|Ald 22 |AHY
2,371,000,000 = 2,371,000
o (Bt3{2(2 & S&otre|Ald SEAY (23
1,445,000,000 = 1,445,000
o (Ste2{2d &5) et S&steA2|Ald SEAE(12h)
860,000,000 = 860,000

o (StrU=YH)SHI AYUZ YH|AIY 2,560,000,000 = 2,560,000
o GtrB2YH)YE, 29 s+ skeE GH|AY
2,390,000,000 = 2,390,000

o (Str2YH|) B2, i Str2e|Y St 2 YHIALY

1,002,000,000 = 1,002,000
o (Strat2HH Al (2EHA) 500,000,000 = 500,000
o (Gtrat23H o ez N 250,000,000= 250,000
o (Gtrat2YH Al 500,000,000 = 500,000

O g e HSEA) dY=s 4,912,832
oBFI|=ZAIEC 2,026,556,000 = 2,026,556
0 (B0{Z OrE2ote FE)E2H A2t 2Ald 2[AMY

71,100,000 = 71,100

410,010,000 = 410,010
o B2y SR 2RSS AL SSAFE(12)

71,100,000 = 71,100




[ 7F8Z5trEA A ]

2(100) AH2A4 g(170) AA2A0ge  MEh(173) ERAHEEZasY  =:(02) ElRAHEEZza4Y (Thel - &)
* 5 o oy | AEE | =5
-8-ME-S of &
0 (580{Z DISote: PH|) 84 2252 2[Ald HXIAY
711,000,000= 711,000
o (otr{2|d &2)PE SSceH2 A SHA (22
52,200,000 = 52,200
o (ctr{2|d &3) % SETEH2 AL SEAH (12
29,520,000 = 29,520
o (GtrH2H)EH, 4 A U2 HH|AY 1,388,346,000 = 1,388,346
o (ot 2FH|) Y, 49 otex{2| 7Y sietE FHIAIY
108,000,000 = 108,000
o (otr2ZH|) M2, LR ot 7Y StetE FH|AIY
45,000,000 = 45,000
O YB3 A MU= 5,429,925
o &E7|ZAlE T 541,044,000 = 541,044
0 (5012 OtSotr PH)SSATE ISt AH R[AIY
117,543,000= 117,543
0 (Bl4-22| % 8t2)3i2| 2251422 A2 HAIE(12})  454,647,000= 454,647
o (ot FZ)MRSSStrH A ESHAIG (1) 45,900,000 = 45,900
o (ctr2|d &#3)dBSSoteM A dSHEAIE (23t  320,086,000= 320,086
o (otr2{2|E &F)dASSotrHelAl S EAIE(1ah)  879,051,000= 879,051
o (StrH2PH)SH, U Y A2 FHIAY 1,171,654,000= 1,171,654
o (ot 2HH|) Y, 49 otex{2| 7Y stet2 FHIAIY
916,000,000= 916,000
o (otrH2ZH|) M2, L7 ot 7Y Stttz FH|AIY
384,000,000 = 384,000
0 20 AT 5H4Rt2 ZH|ALY 500,000,000 = 500,000
0 7B steA|d RAE AMY 100,000,000= 100,000
03 AlZHEZRZ249 1,461,772 147,841 1,313,931
O AEHEZZ49 1,461,772
0 (5012 OtSotrr FH)ERH 21233522 A H2IAY
5,829,000 = 5,829
o (otrx{2|E &3)de| SSTHH2 AL SHAA(12
576,343,000 = 576,343
o (otr{2|E &E)MUR AT2ESotrH2|Ad SHAL(12))
78,000,000 = 78,000
0 (80| DISoteE YH|) 84 A 25He22[Ald HRIAHY
406,457,000= 406,457
o (ot &3)dE SSTH2 A SHA (22
247,714,000= 247,714




[ 7F8Z5trEA A ]

2(100) A=A g (170) AHEA0ZeY  ME(173) ERIAAEEZaY 2:1(03) A|=B|EZa4¢Y (Thel - &)
nl 2
;J-?J-HI%*-; oA éﬁﬁﬁ s
o (Str{2|d &3) 4 SSTEH2 AL SHAH (12
147,429,000= 147,429
180 REAZ 1,000 200,000| ~A199,000
181 &HAYNF 1,000 200,000 ~199,000
01 &MAYNZ 1,000 200,000| 199,000
O &MAYHZ 1,000,000 = 1,000




